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Which of the following is not part of a research design ?
Developing a questionnaire
Formulation of hypothesis
Data analysis

Formulation of objectives
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92862739522.
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TRIAT T HET0

A research model does nof
give a description of a phenomenon
create a research design
develop a scientific theory

involve review of literature
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Ethical neutrality is a distinctive feature of

inductive method
scientific method

observations of the researcher
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experiences of the researcher
92862739532.

Afae fAeaerar faaa @ g

ARTHATHS =T 7
CENBERCIE
STTErFeT = TETOTT T

STTEAT = ATAAT AT

Publishing someone else’s work as one’s own is called

an abstract
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92862739534, a foot-note

an index

plagiarism

o s == 5o BT o == F 10 &0 909 1§ T § TS

FLATT Fgl AT g

a1T (Abstract)
U OTE-feoq it (Fe-A1e)
FAFHHOET (Index)

ATig ca= AT (Plagiarism)

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Correct Marks : 1 Wrong Marks : 0

The first page in a research report generally is
appendices related to research work
bibliography

table of contents

research title page

AHATT T TF qgeeT e § ogar 79 gam §
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AT ofi T I8

92862739540.

One of the essential characteristics of hypothesis is
accessibility
durability

testability

rigidity

T eadT & ATTITF ATHAAT H H TF

FfeTEraT
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92862739542.

TETETOT AT

FedT

FFP in research means misconduct based on

fabrication, falsification, plagiarism
falsification, fabrication, publication
fictional, forged, publication

forged, fictional, plagiarism
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FATATE F TR TF.9. 7 o7 Fefoarfas w srata TEe g
STt e, arfgfeas S

T AT 0T, ATAATSH T, THTIH

FTed i (Fiedd), TTAt, THTI

STeAt, e (Fiead), qrigfca=s Jer

The hypothesis which explains the relationship between two variables is

causal
relational

casual
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92862739552. taniete

O aed T ST 21 =4 % S G Iqrar g, T2 8

ST

What is essential in ethics and ethical standards ?

A good understanding of research
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A good understanding of financial dealing
92862739554.

The ability to distinguish between right and wrong

The capacity to conduct good research

ATahdT ST ATd= AT & forg =7 Ar=a97+ g ?

AT T T A=l THH

&= =A™ #it UF =1 a9

HET 3T Toad F qT e il gqqr

F=g, ATHETT T HATIAd Lo =l AHAT
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Every research project should make a contribution to
economy

national assets

knowledge domain

the researcher’s development

T ATHATT TIATSTAT il RIS =67 120

FITg=IT °

T O §

EIEERCER]
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92862739560.

Softwares to check plagiarism are

l. Plag Scan
1. Copyleaks
1. Plag Tracker
V. Paper Rater

| and Il
Il and IV

, Il and [lI

, 11, Il and IV
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AT fod= AT AT S FLA 6 [0 AT g

|. =T ¥ (Plag Scan)

Il.  Sidrera (Copyleaks)
lIl. AT 257 (Plag Tracker)
V. U9 %27 (Paper Rater)

| 3 I
Il & IV

I, 1 3= 1

T el \Y)

What is the disadvantage of deceiving respondents ?
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It makes it more difficult to gain access to hidden populations

92862739565.
It can damage the professional reputation of the researcher
The personal data of the participants cannot be made public
It may lead to financial loss
SALETATAT Tl ST I it FIT ZTA g 2

T AT THEAT T Tg= TTH FLAT ATLF FfsT 21 01 2

T AAAATAHAT 1 SATAATIAF TIAET HT THATT TgF Tl g

FTTATREAT & AT | ST AT ol ArasTiea qgi (haT ST
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Question Number : 13 Question Id : 92862710081 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

What problem does a research organisation face in designing an ethical codk
Incorporating assessment for the ethical behaviour of participants
|dentifying relevant rules that should guide a researcher's behaviol
Ascertaining truly ethical behaviour

Qutlining in implementation strategies

T e FilE HT TWreA F27 § =t Ao g |95 A1 &5 T7eT 71
ATHAT FZAT 24T g 2

TTAHTREAT & Aida a8 F forw Al =1 areaiard F21
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STE T FaT 7 2= FAT S A AT EAl & g AT

92862739570.

AT 1A | Afd® =Age w1 e faar

FTATeAT T FTAATAAT T TIGT TATHT

Formulation of hypothesis is followed by

listing of objectives

analysis of data

selection of research tools

collection of data
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Tieed T & A= F a1 T ST g
I29AT W HAIAE
Amet A Eor
FAHHT ATEAT T =TI

AFHET FT HAAZT

What should be obtained from respondents to participate in a research study ?

A commitment
Guidelines

Private information
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92862739580, Mformed consent

ATHLTT FLAAT § AN A % [ ST aredt F =:=07 908 FAT

Mg ?

VERIEEE-G

fom-fA=er

GRS IGEDEA]

=T agatd

The principle to guide researchers in deciding goals and in reconciling conflicting value

research ethics
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deontology
92862739582.

utilitarianism

universalism

FATATARATAN HT AT HT T F A2 T7E97 AL oAt § arHeed #
FT AWEIH 3 qTAT Hgia g

FATETT AT

A= == (FaeeE)
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Correct Marks : 1 Wrong Marks : 0

In an experiment, the researcher tests variables to determine their effect on
an independent variable
the dependent variable

an indefinite variable

a test variable

TF TN |, AqELTHRAT Meterad ¢ TA7T Feig F:ed & o =730 &
T FXATE

A 97
AT =97

qfHafeg 9%
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The consistency of data is measured by

Mean
Standard deviation
Mode

Median

FAHeT ! G AT /G STAT g

HTET & 1T
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92862739590.

Tga® (mode) F T

HTTET=T & 2T

After data collection from the respondents, the researcher

can disclose it to anyone

cannot disclose it to anyone without permission of respondents

can sell this data to private agency

can publish it without consent
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SIETATSAT | ST UFT F9ed & q1%, A ATTHdT
ZERT T T AT FATHT L ThaT 2
IALETATAL T AGATT F 37 ey v of v zoer germar 7gi 73
T SET AT (Aol TSt il O Jhal @

= faaT agafa & grioa FTawar g

In a graph within a research report, the variables on y and x axes respectively, are
Independent, dependent
Dependent, independent

Interdependent, infinite
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Infinite, dependent
92862739600.

T AT e F, U 9Ty 7 x qE{ 07w 77 F
==, e
e, =a T

e, Fdw

Which of the following is best for preparing a research report ?

MS Excel
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92862730602, V1o PowerPoint

MS Word

MS Outlook

T FEET Ol qFT Fiee & forg, mefafed § § Fq-a71 999 J=a91

TH. T, TFT (MS Excel)

TH.UH. qra<A Tz e (MS PowerPoint)

.. 7€ (MS Word)

THUH. dAr3cqd=s (MS Outlook)
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The respondents identity is generally not known to the researcher. This is called
confidentiality
desensitising
deception

anonymity

STETATSA il Tg=AT ATHATL TT ATHATTFRAT il AT A1 gral | T8 Fgl';
e

TR AT

[EEPIEEas

eTET
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92862739608.

The first step of scientific method is to

make observations

ask questions about observations
form a hypothesis

test the hypothesis

AT Tgid T TgaT I g
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Srereit 3 aTE B WO T

92862739610.

T TTRHETAT &7 (70T FHdAT

IT=heqq T FT 9F A0 HEAT

The logical and systematic procedure is called a/an
experiment

observation
deduction

scientific method
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qTiees T AT (FAeaq) AT Fragrsmar g

CELDEREAT]

One of the formal methods of logical reasoning process is called

Inductive
Deductive

Subjective
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Analogical
92862739620.

ATTeheh e TToRaT i STT=T<a @192 | T T &l gl a7 2

SANTHATH=S

.
(A HAcH=

™
Althd L=

-y * ﬁ
Sdnliien

A scientific law does nof explain

the existence of phenomenon
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observation of the phenomenon

the experimental procedure

IIEEAT & ATeaT &
TIEEAT o TTE0TTH i
qIEaAT & T07 v

EIRIEEREIP KT
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The computer instructions use the following system :

Decimal
Heximal
Fraction

Binary

Freqee faer et gomet =71 ST #7203

2HAA

;9T
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23T (FTe)

92862739628.

Which of the following is not a portal facilitating online teaching-learning of massive sc:

SWAYAM
SWAYAM PRABHA
EDX

COURSERA

HETaiad o | FH-97 T2 T 92 Atz (e0r-aiamm it giaer 92
FA ATAT TN AgI g ?

=T (SWAYAM)
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=IH 9491 (SWAYAM PRABHA)

92862739630.

T S1.UF9. (EDX)

AT (COURSERA)

The original source from which a researcher collects the information is
Primary source
Secondary source
Tertiary source

Quaternary source
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T B TSI & S ETFar STy (AT THA FATE, qE Y
BIRIEERCIT]
[ESIREZRIG]
SRIRERCIE]

T AT

Where is the Central Salt and Marine Chemicals Research |nstitute located in India ?
Goa

Thiruvananthapuram

Chennai

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Bhavnagar
92862739640.

AT | Fea (4 780G F G THET AT Fe479 (Central Salt and
Marine Chemicals Research Institute) gt &9 g ?

HER

—- :

Ao <

vt

Which of the following is nof a quantitative research strategy ?

: !l L o s o g
St Rl T TEATT S
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Survey
92862739642,

Structured observation

Interview

aforfeT ®§ & Fia-H UF A Aq T mE-aid dgie ?

TATIAT
T eToT
=T T

qQIEAT T

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

Which of the following is not a type of research question ?
Descriptive

Relational
Causal

Interview question

Feferfad 5 & F9-97 ATH4T T FT TF T 7gl g ?

TUTATHF

FTLOT-T &
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qTET=RTE T°F
92862739648.

Which of the following explains research ?
Searching again and again
Collection of secondary data
Finding solution to any problem

Working in scientific way to solve a problem

HEteiad 5 T FI9-97 JqHET il SATAT FIar g ?

ATE-TTE G
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[EGIRERE e AR DEL]

92862739650.

el FHEIT 1 T AT

et oot & TErdTe F oo asees 990 O w19 570

Action research is a/an

in-depth research

directional research

research to solve an immediate problem

quantitative research
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g s (T ) 2T g

T Mg AT

U TROTeH= AT

T ATcRTierd ST &l gof il & (o0 Uah e ard

TT=F HTATHS AT

Generally, the conference proceedings are considered as
quaternary documents
primary documents

secondary documents
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tertiary documents
92862739660.

AT ¥ %l F1AaT12T (Conference proceedings) FT HTHT JT4T |

TCH TEATAW
ITATH AT
(EGIRETCLICE]

AT FEATAS

Pilot study is generally carried out to

formulate hypothesis
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92862739662, test the research tool

find out research problem

evaluate feasibility

ATrEsft 7eqa (Pilot study) dTHT=I: T STaT 2
T aeadT 90T 2T & o
FTHETH |14 (tool) & T&A0 & forw

FAHHTT THEIT T AT e F [0

STAZTAAT &1 AT Hee & [T
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Which of the following statements about qualitative data is nof accurate ?

This data is collected from websites.

This data is generally collected using informed group discussion.
The quality of this data depends on the way it is interpreted.

It can be affected if one person dominates the group discussion.

[T ST % A1 F HAfeiad § 7 F19-a71 49 951 7gi e ?

Tg ST AFATSEl | U (A7 STaT1 2 |

g ST AT = THg FAT & SUANT T THA (301 1]

TH ST FT [OETT THAT FTEAT F7 % diia 97 [H9T Fiedl g |
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Tg TATIAT BT THaT ¢ Tf3 T =7k T F=0 § TYA @7 of

92862739668.

The researcher uses the literature to

show that one is competent enough to refer prominent research in the field
develop one’s own version of the literature
submit research report

identify a gap or problem in the literature that corresponds to the research ¢

FATEATAHAT ATgeT FT ITAN F7d &

Tg T & Torw & &= § @ AeEeTT wi g9 & o F 9
:

g,
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ATfgcT &1 A9 Zarer & =7 FFtaq 79 F foro

92862739670.

FEET RE ST°T F & fog

ATigcd | T AT T FHEAT il TZATT FIAT AT ATHATT T

A systematic literature review is

random literature review of research

a replicable, scientific and transparent process
one which pays same attention to those who have contributed significantly

generates literature reviews tailored to one’s subject
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U TATH ([ATTT) Fiiged aH AT grar g
AT T AT T 7 AT FTHTEAT

U TTdaid, =Tt ST qreaeft Tisar

g THTAT S &5 § Ao 0 TSI I ATl T¢ THIA 479 34

g HHTAT ST U =Tk & [E0T F A]ET ATiged THEAT IoI F

Peer-reviewed literature is

assessed by the readers of the journal to ensure quality
assessed before publication to ensure quality

not available on the internet
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unlikely to be of better quality than non-peer reviewed literature
92862739680.

agEHI-aH e ATigcd (Peer-reviewed literature)

eIl ST o qT5a 1 GTeT AT A 1d Fed & (o7 Jeaiind |

UTET FiAT2d F2e =6 T T | Oge Fogiihd A1 Srar

il TaAT-aghd T AT ATl ATigcd il AT |, Sga< [UrEr 2l

Which of the following is nota graphic representation ?
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92862739681. Fipenart

Bar chart
Table

Histogram

FoteriET § & FrF-A7 UF JrhiT fFea0 agi e ?
qTE AT

qTE AT
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Correct Marks : 1 Wrong Marks : 0

Which of the following can be used for developing online survey for research purpose

ResearchGate
Academia

Google Plus

Google Forms

FATATT TATSAT F (010 AFaTeT T FAxwfag #w & o et
TRt ST (5T ST HhaT 8 2

RGEEIE

LESERn
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92862739687.

UUERTE:]

What is deemed a good measure of the quality of a journal ?
The impact factor

The ACS factor
The intake factor

The influence factor

Ua ST ol OTET &1 FA=ST /1T FAT A1 047 g 2
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TU%2 27 (Impact factor)

92862739689.

ACS F#=7 (ACS factor)

zhca v (Intake factor)

ZFR0H 2T (Influence factor)

What is a limitation of systematic review ?

It is too hard to do

The research cannot be defined in terms of impact of a single variable
It is quite complicated

It is time consuming
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Question Number : 44 Question Id : 92862710112 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

TATHH (THATEAT) (systematic) THTAT T T HHT g ?

SH AT Agd Bl 2lar g

FTHHTT 0 Thel =< F T * I=1 § 7Heaiog 981 Far s

TAH Agd HHA AT

What percentage of courses is allowed by UGC through MOQOCs in a semester of a

Bachelor's Degree Programme ?

10%
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20%
92862739698.

30%

40%

et @1 SUTTEr AT & U 9 § Fafa=mas aqa J=nr (UGC)
TTEIFHHT HT T ITa9d MOOCs ZRT AT g ?

10%

20%

30%

40%
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Asynchronous learning provides teacher-learner interaction at the

same time

same place
different place but same time

different place and different time

FIeI =TT ATEH IST9 Fiidl g

TS B F O forer-fererdT i urere RE-Ame

T Bl T 97 for-forareft 1 avenw -
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AT ST 9% 9w U g qHT 7 forerw-foraredt = o 2

92862739703.

At AT 97 o Atas g9 o forer-forearedt =1 g7eu= &=

Which of the following is notthe web-based teaching tool ?
Blog

YouTube
SWAYAM

Wikipedia

et o & H1-a1 4= (Web) AT&Tied frerr =7 arae Jgi ¢ ?
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=119 (blog)
92862739705.

I=I4 (YouTube)

=T (SWAYAM)

fafrdifeaT (Wikipedia)

A student collects six water samples from a pond and measures the dissolved oxygen
concentration of these samples. His observations in mg/L are: 8.8, 3.1,4.2,6.2, 7.6, 3.
The mean of these observations will be:

5.58 mg/L
5.68 mg/L

6.28 mg/L

www.FirstRanker.com
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6.38 mg/L
92862739712.

T T U ATATE | S 6 g Td=9T THA FHedT g 3% 27 TIda9ql Al ¢
g% ATFETSIT TEdT AIIAT 2 | I8 T mg/L 7 &

8.8,3.1,42,62, 7.6, 36.

T T FHT ATET (mean) 2T
5.58 mg/L
5.68 mg/L
6.28 mg/L

6.38 mg/L
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Correct Marks : 1 Wrong Marks : 0

The standard deviaton for the data givenin Q 48 is

2.01
2.1
2.21

2.31

T 48 H 30 T AT F To10 7= fa=a g

2.01
2.11

2.21
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2.31

92862739716.

A combination of both face-to-face and e-learning is called
blended learning
distance learning
synchronous learning

asynchronous learning

ATHA-ATHA 3T S-ATETH, FA1 FT SIS FgATdl g

9 @A (blended learning)

www.FirstRanker.com
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T2 ATAH (distance learning)

92862739718.

AT ATATH (synchronous learning)

FIFTTH ATETH (asynchronous learning)

Which of the elements having the following electronic configuration has highest first
ionisation energy ?

www.FirstRanker.com
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[Ne] 35°, 3p°
92862739721.
[Ne] 3s%, 3p°

[Ne] 35°, 3p°

[He] 257, 2p°

et o e e a1 § § el Sga9 T99 J999 59

?
[Ne] 35", 3p°
[Ne] 35, 3p°

[Ne] 35°. 3p

www.FirstRanker.com
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[He] 25, 2p°

92862739724.

According to Valence Bond Theory, the shape of XeF4 molecule is
square planar
pentagonal bipyramidal

octahedral

linear

AT AT T % AT, XeF 4 A &t AFfq 3

T THIAT
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e R

92862739726.

ATFARIT

G CED

Which of the following is the correct decreasing order of boiling points of HF, HCI, HBr
HI ?

HF > HI > HBr > HCI
HF > HCI > HI > HBr
HBr > HCI > HF > HI

HI > HCl = HF > HBr

www.FirstRanker.com
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et & 7 F19-a1 HF, HCI, HBr 3T HI = F9w1hi T A5 F2dT g
£ 2

HF > HI > HBr > HCI
HF > HCI > HI > HBr
HBr > HCI > HF > HI

HI > HCI > HF > HBr

Choose the name of the latest element discovered.
Nihonium

Oganesson

Moscovium

www.FirstRanker.com
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92862739736. Tannessing

Taferiad o | TI9ad @isf T0 g T 19 40 |

REURRE]

Ortho and para hydrogen are different due to the difference in their

nuclear spin

www.FirstRanker.com
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electron spin
92862739738.

stability

kinetic energy

ST AT GTTETES o1 I ehl (et d | & Toheeht frerar & wreor {9 ¢

TAFEIT THA

oI
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The increasing order of boiling points of hydrogen isotopes is

Protium < Deuterium < Tritium
Protium < Tritium < Deuterium
Tritium < Protium < Deuterium

Deuterium < Tritium < Protium

gTEg oI & AT F FHATHT FT TEAT G FH
eI < SLENMAH < ZTE(e
TTeaH < ZTefedd < SEias

ETEedH < TIedH < SEHaH
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ST < ZrEfead < grfeas

92862739744.

SiH4 is an example of which of the following types of hydrides ?

lonic
Interstitial
Metallic

Covalent

SiHy gzl & fAafertad Tl | | ot 338 g ?

ATaEE

"_'l';—l-!-l—l—l'ﬂ'n'
AT AT
www.FirstRanker.com
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92862739747.

AZHATSTH

|dentify the strongest acid from the following :

Carbonic acid
Perchloric acid

Sulphuric acid

Phosphoric acid

FrafaiaT § & Taaaq 7+ Tgara

www.FirstRanker.com
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AFel
92862739749.

qEFA o ATT

The colour of solution when sulphur disproportionates in liquid ammonia is
Orange

Dark brown
Blue

Green
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Correct Marks : 1 Wrong Marks : 0

el TR T T AHAAT H ATHTAATIA ZIAT g, T1 ITH Faqa+ 7 37 g1
AT

TeXT {0

Tl

In a multielectron atom, which of the orbitals will be occupied first by the electrons ?

l. dsoutofdsordp
1. 4dpoutofdsordp
1. Sdout of Sdor s
V. 6s out of S5dor 6s

Choose the correct option :

www.FirstRanker.com
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92862739757. | and II
| and IV
Il and Il

Il and IV

et Tg-Zer =2l TTATI] § FIA-A7 FeTF TAF2A1 2177 Tged WL S ?

.  4sTAT4pHT 4s
. 4sTAT4pHT 4p
. 5dAT6sH T 5d
IV. 5daT6sH T 6s

ql e i

| 3 I
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| &7 IV
92862739758.

e el

Il & IV

The complexes [Cr(OH2)g]Clz and [Cr(OH2)4Cl2)Cl . 2H20 show

coordination isomerism
ionisation isomerism

hydrate isomerism

linkage isomerism

2)6ICIz =T 2)aCizJCI—212 ;
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Options :

AHAT (STHGEATSA) FHTATAA]

92862739761.

ATOAA FHFITAT

glege aHETadl

el HHid44ql

Transition metal complexes of d ° metal ions have trg — &g spin forbidden transition an
a result have

no colour
dark colour

pale colour

1 Ih‘ll’ Hﬂ.lﬂ.l 1=
L= == =g
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Question Number : 62 Question Id : 92862710130 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

3] : . : = fs : =
d " AT ATAAT F HHHA T LAl H fog > €g THAI AToTd HFHHI ZIdT 2

IHF AT ITFI

1% 4 T A

Mg T A gAT g
T T AT g

Which of the following elements belong to actinides ?

Sm

www.FirstRanker.com
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92862739770. Eq

Cm

Pm

Hafeiaa § F FI9-97 a9 Ufeedrse g ?

Sm
Eu
Cm

Pm

\Which.of the. followina ions.is_colourdess 2
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Options :

3+

Pm
92862739773.

a4
Ce

3+

Sm

+

Eu’

o § 9 F19-97 saq Jee g ?

3+
Pm

3+
Ce

3+
Sm
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3+
Eu

92862739776.

The stable carbony! of titanium would be
Ti(CO)7
Ti(CO)s

Ti(CO)4

[(n° - CsHs)2Ti(CO)2]

STZEATH &7 ST FAAA gRIT

Ti(CO)7
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Ti(CO)g

92862739778.

Ti(CO)4

[(n” - CsH5)2Ti(CO)2]

Excessive intake of iron is dangerous as

l. it cannot be excreted during metabolism.

1. it results in storage in the body.

www.FirstRanker.com

1. it may be stored in the spleen and liver as hemosiderin.

V. the concentration of ferritin in the body decreases.

Choose the correct option :

www.FirstRanker.com
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l, [ and IlI
92862739783.

| and Il

ATATA T AATES HAT MAHTeH grdr g Fii

| = IUTIHT & 30 IeAtorg dgl (g1 ST 9FhdT g |
1. 9T § SHET GETO0T 21 147 2 |

. I SHEESRA & =0 § toligl T T9q § e af aFhar g |
V. o7 § wfed &t Fiear 9 gf Jrar g |

Tl e i

v

1, 113 1
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| 3 I

92862739784.

If Mossbauer spectrum of Fe(CO)s is recorded in the presence of a magnetic field, the
original spectrum with two lines changes into the one with

three lines
four lines
five lines

six lines

77 Fe(CO)s T Fah T & il IUEATd H HIiAA L THH ATHATET 7
ST, 1 =T 1A ATAT oA FUFZH TSAh 98 TUFH /T orFH g
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Identify the correct product for following reaction :

CH,CHs -
©/ +*Cl —

Cl
|

[:j/CHCHa

www.FirstRanker.com
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Cl
|

[:I,CHCHgn
92862739790.
[;:F,CHZCHE

Cl

Cl

www.FirstRanker.com

teteriaa afatear F agi I T IgaTHT

CH,CH34 i
O *E ay

Cl
|

[:I,CHCH3
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Cl
|

92862739790.
Q/ CH,CHg

Cl

Cl \Q:CHECHE
Cl

The IUPAC name of the following compound is

CHsq

oo YT

Cl

2-chloro-5-methylhexane

www.FirstRanker.com
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2-methyl-5-chlorohexane
92862739794.

2-chloro-5-methylpentane

2-methyl-5-chloropentane

et 91 FT e AR O a2

CHsq

HSC/\/\[/CHB

Cl

www.FirstRanker.com
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2-T AT -5-FATUve

92862739796.

Which of the following does nof undergo Friedel-Crafts reaction ?
Benzene with acetyl chloride
Naphthalene with alkyl halide
Benzene with alkenyl halide

Benzene with 2-chloropropane

Feteiad 5 & F19-97 BISoT-hrred AT qg] T ?

AFST o AT TH (e FATLIEE
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TEAATT F TTT UfesheT goATze

92862739798.

AR I F JTT Ufoswiae gaTae

ARSI % AT 2-FATLI 0T

2-Position of pyrrole is more reactive towards electrophilic substitution because carboc
formed is hybrid of

four structures
three structures
two structures

five structures

www.FirstRanker.com
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forrer 1 2-fRurfar TorerivTort STereorTa o e st ararraeiier Zret

T 1% T ATAT HTE-GAIT T gar g

=TT T FATAT T

T FEFATAT F

=T HITATAT

I T HTAT T

Which of the following statements regarding resonance energy is correct ?

It is difference in energy between benzene and the imaginary cyclohexatrie

It is involved in all types of unsaturated compounds.

It is involved only in cyclic hydrocarbons.
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It is the energy difference between cyclohexatriene and ‘Dewar Form' of be
92862739808.

Fefoied 5 | FI9-97 F99 JqAT1S S0l & 917 F 9g1 ¢ ?

S = — == C [ £ s ,
Ag dnaiA 3ﬁ_‘lfﬁhl?lll"|°h dlgardigadlcia-ad a'_’ﬁilfl Tl Il Aq

g HAT T F AGH TR § g g2rar g |

Tg FAA A0 1T SISl § A {erd gral g |

TZ ATFATSFATENG-2 AT A=A o ST BT F &1 7 FHoAT
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What is the correct IUPAC name of the following compound ?

CH,CH,CH,

Propylbenzene
3-Propylbenzene
1-Phenylpropane

3-Phenylpropane

afofaT T #7198l e LA T A =T g 2

CH,CH,CH,

>
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Predict the product in the following reaction :

K,CO4 (DMF)

C':@i' . “>COCMe :
| N 180°C, Pd (PPhs),

JosOnu
MeOOC ™=

Cl

Meooc%
|-~ COOMe

www.FirstRanker.com
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Meoocmcoom
MeOQOC -~ = “~COOMe

92862739815.

Cl m COOMe
| “~ COOMe

et gtafear =1 S a9

K,CO3 (DMF)

l !, ~~cocMme -
I:@: & 180°C, Pd (PPhy),

JO > Ot
MeOOC =

Cl

MeDOC%
|- COOMe

www.FirstRanker.com
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Meooc:ii]i;fjiicoome
MeOQOC -~ = “~COOMe

92862739815.

m:I:Iji:cooMe
| “~ COOMe

www.FirstRanker.com

Name the reactive intermediate formed in the following reaction :

EJL//[/ N, i C[/ COOMe
MeOH
Keto-carbene
Nitrene
Free-radical

Radical cation

www.FirstRanker.com
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Question Number : 75 Question Id : 92862710143 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

afoiaT atatear 8 a7 atatrarefie geaadt 1 3" aaEu

O
MeOH
FrEr-FTa T

CIFEAG]

-1

CEERCRIRE

Arrange the following species in the decreasing order of their basic strength :

CH3COOQO , CH30H, CH3NH', CH3NH2

www.FirstRanker.com
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Options :

CH3NH > CH3COQ > CH3NH > CH30H
92862739821.
CH3aNH > CH3aNH2 > CH3COO > CH30H

CH3NH2 > CH3NH > CH30H > CH3COO

CH3NH > CH3NHz > CH30H > CH3COO

fsrteriae =TT T ST AT5F TTeraT % Jed gU FH § 2Aaiead e

CH3COO~, CH30H, CH3NH_, CH3NH>
CH3NH > CH3COO > CH3NH2 > CH3OH
CH3NH > CH3NH2 > CH3COO™ > CH3OH

CHzaNH2 > CHaNH > CH30H > CH3COO

www.FirstRanker.com
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CH3NH > CH3NH2 > CH30OH > CH3COO

92862739824.

Predict the major product formed in the following reaction :

0
@HJ\/Br Nabiry
MeOH, 25°C
OH
@/l\/ OMe
OH

@/k/ Br
@/vOMe

www.FirstRanker.com
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92862739828.

Taferiad ATHTHAT § 97 =T IUTE Tq130

0
@HJ\/Br Nabiis
MeOH, 25°C

OH

OMe

¢

OH
Br

e

=~ OMe

6_\
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92862739828.

Arrange the following in the elution order in RPHPLC :

Cl
l. . 1. V.

[=11=1ll>1V

H=1=11>IV

H=i=1>IVv

IV=I1l=1l=>]

www.FirstRanker.com
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fAeforiaa =1 RPHPLC ® fRemee #9 § srateda ey :

Cl
| 1. 1. V.
[=1=1>1V
H=>1=1=1V
m=>M1n=1=1V
IV=1l>1>1

The major product formed in the following reaction is :

\ Brzh
/ NOA T
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Br>——
92862739833.
Br
—
iBr

-

S
Fg
[

\
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Br

92862739834.

-

r

-

The major product formed by heating (2E, 4Z, 6E)-decatriene at 132°C is

(T
o

www.FirstRanker.com
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E\.

92862739839.

?
K2

(2E, 4Z, 6E)-==TeTe-31 & 132°C 9% 9 F7d ¥ ITH H&F IcI1E ¢

slie
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92862739840. ¥

Name the compound (CsHgO), which shows IR absorption at 3600 and 3300 em ' and
"H-NMR signalsatd 1.5 (s), 2.2 (s) and 2.9 (s) (broad) ina ratioof6: 1 : 1.

2-Methylbut-3-yn-2-ol
1-Pentyn-3-ol
Vinyloxy propane

1-Penten-3-one

www.FirstRanker.com
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AT (C5HgO) FT AT ST ST 3600 i~ 3300 cm | 9% FA7=F FF9T
TAT & 1.5 (TFF), 2.2 () AT 2.9 (TF) (Fed) 97
6:1:1% FqUE & H-UF. 0.5, 55d ¥=091d F2qT 8

2-HTIAHE-3-ATSH-2-ATeA

IERIECIE:IR RG]

1-T=E=-3-319

What will be the kinetic product in the following reaction ?

OPh

COsMe
o
e

—_—
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92862739845.
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Frfertae st 1 qer Tiast Ioa1s #7491 2R 2

OPh

CO,Me
i i f A

?F’h
,CO,Me
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Question Number : 83 Question Id : 92862710151 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

Which enolate will be formed thermodynamically in the following reaction ?

LDA

0

LiO
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Question Number : 83 Question Id : 92862710151 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

o AR  FI19-97 SAide SEaNEamd: a97 R 2

Ak

LiO
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Predict the main product of the following reaction :

AC,0

CH,0C
‘i
T\ -

N
COCH,4
B
N ~NO;

B
CH3OC/(}\N02

CH4CO
f X

N

www.FirstRanker.com
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COCHj
B
NO,
B
CHSOC’[;l“NDQ

CH4CO
f X

N
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The transmission probability of electron, muon (mass = 207 me) and proton
(mass = 1837 me) through a barrier of a given thickness would vary in the order

muon > proton > electron
proton > electron > muon
muon = electron > proton

electron > muon > proton

et &1 TS HieTe & Tawrd § F goaaid, T (FH = 207 me) ST
TTEiH (FTH = 1837 me) T =0T IHA=HAT 37 FH H Tiatdd gril

BIAT > T > TAFEA

TTeid > TAFeia > FAA
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TIAT > TAFLIT > Tl

92862739859.

TAFEIA > FLA > TTElA

Which of the following is an antisymmetric spin wave function ?
a(1) . a2)

A1) . B(2)

%[ﬂ(1)-ﬁi2)+ﬂ12)-ﬁ1)]

%[ﬂ(‘l] - B(2) = a(2) . B(1)]
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et 7 7 F19-a7 T TaaaET T=5H600 T3 Fad g ?
a(1) . a(2)

A1) . B(2)
1
s la(1) . A2) + a(2) . 5(1)]

1
s la(1) . B2) - a2) . B(1)]

Which of the following gives the correct order of energies of the Russell-Saunders tern
IS:’ID:"IG:"BP:’BF

IS:’ID:"IG:’BF}BP
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‘Es’ps's>'D>'G
92862739867

ID:’IS:"IG:BP:BF

fAafariad § T F19-97 Ta-Aieed 921 it Soial 7 Taf 77 247 g ?

1S}1D}1G}3P}3F

1S}1D:"‘1G:"3F:"3P

maps 'gs'psls

1D}1S}1G:"3P}3F
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Which of the following is the term symbol for the ground state of Ni** ion ? (Atomic nun
Ni = 28)

frerforfarT & & F19-97 Ni© T 7 T e F 0T 92-9a1F 2 2 (T
i, Ni = 28)
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92862739870.

According to Huckel's approach, four possible energy levels for 1,3-butadiene are as
under :

Ei=a+16188 E=a+ 06188 E3=a-06188 E4s=a-1618 8

The mrelectronic energy for the 1,3-butadiene would be
4a-4472 B

4 a

4B
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4a+44728
92862739876.

gl IUIHA = AT, 1,3-FEET2-29 & (10 A THT Sl [-eq7 TH T

Ei=a+1618 8, Ex=a+0.618 8 E3=a-0.618 S,
Es=a-1618 8

1,3-FETETE-51 & [0 7-TAF& (9 SoTl gvil

4 a-4472
4 a
40
4a+4472
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Question Number : 90 Question Id : 92862710158 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

The number of irreducible representations of D 3 point group are

12

D 3, g 798 F w@=a fAeaon i 9=11 g
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92862739880.

The number of translational, rotational and vibrational degrees of freedom for carbon
dioxide molecule, respectively are

3, 2and 4
3,3and 3
2, 3and 4

4 3and 2

FTET STSAFATEE AT o [T EATATANA, O AT FHFaiesh caq=1dr il 0
=l HEATT FHHA: AT
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3,237 4

92862739881.

3,333
2, 33474

4, 3 47 2

Which of the following correctly gives the order of the wavelengths of excitation (E),
fluorescence emission (F) and phosphorescence emission (P) spectra for a molecule ~

F>P>E
E>F=>P
P>F>E

P>E>F
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Question Number : 92 Question Id : 92862710160 Question Type : MCQ Option Shuffling : Yes Is Questior
Correct Marks : 1 Wrong Marks : 0

ot o & wi-ar, BT s % fom 399 (E), aiasim 3esi (F)
TERTH Soaerd (P) #T T33aea1 T 9gl %7 3d1 ¢ ?

F>P>E

E=F 3P

P>F>E

P>E>F
If the molar solubility of Zr3(POa)4 is S mol dm_ﬁ, then which of the following expressior
correctly represents the relation between the solubility and solubility product constant *

- T sp
B = 1728
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s =7
5184
92862739890.
s = 7=
6912

§ =7
20736

X Zr3(PO4)4 T W 7T S mol dm 2, 7 fArermaT #i e

O ¥l % 1= goy [Mototag § 9 &9 =29 g ag &7 H
=T T smarg ?
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— ? Sp
= 5184
92862739890.
S =7 “sp
6912

What will be the value of equilibrium constant for the following reaction ?

Given :
2502 (g) + O2 (g) = 2503(g)
S (s)+ O2(g) = SO2(g) Ki=10"

2S (s) + 302 (g) = 2803 (g) Ko=10"

1 025
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77
10
92862739894.

10131

1 0206

et st & oo |arer 2= 7 #41 979 g0 2

ERIRIE LR

2502 (g) + O2(9) = 2503(9)

S (s) + O2(g) = SO2(g) Kq=10"
25 (s) +302(g) = 2503 (g) K2=10"

1 025

10??
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10181

92862739895.

1 OEO’B

Which of the following expressions correctly represents the vibrational contribution to i
molecular partition function ?

1
q = 1 _ o-hcvikT

e 1

S 1 + o-NCV/KT
v = 1 =

4 T o hovikT
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92862739900.

FEfead O o FI9-97 =90 AT0aS IS Tad J HEqH® TETETT 0
YT & [A=iud F7dar g ?

1
4 T o hovikT

1
M 1+ E—hc?;kT

1
q = 1 Ehc?,fkT

,1
1+ Ehc?fkT
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Correct Marks : 1 Wrong Marks : 0

Which of the following gives the Nernst equation for hydrogen electrode ?

Bm, = EE|+, Hy I:II n :HH+2
B, = B gy, ~ e a:H
r
Bl =, = 0 E‘al:.
B m, = Eat Hy I:II N ::i

Faffad 5 ¥ FI9-97 gRg o Saaal & (o7 qvee TR0 34T
g7
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RT 9,
E,., =E, - In
H™, Hy H¥, H, nF a,.
92862739901.
RT A+
E, ., =E° —~ In
H ! H2 H+i Hz nF a
H2
RT A+
E,., =E, - In
H™, H, HE Hy nF ay,
RT 9H,
E, ., =E° —~ In
H™, H, HT, Hy nF a,+

In a kinetic study of the reaction between persulphate and iodide ions, if the ionic stren
is increased by addition of salt then the rate of reaction would

Increase

Decrease
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92862739907. Famainsame

First increse, then decrease

TRHhE AT ATATSTZE ATIAT & Hed ATHATHAT & TaATias A9 |, Ti=
AU T THAT & ATAF TaadT § 1 gl g, T ATHHAT HT 997

T

TaAT

THTT T2

Tgel AT, T =ream
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Which of the following is the correct expression for Freundlich adsorption isotherm at
moderate pressure of the gas ?

X % &
m—kp,n:-1

X .0
r'n_kp
X LAl
r'rn_kp

T 3T = T 93 31e 92 whigwetorsh ATEeTaor FHATT 79 = fory et
H | FHA-AT1 Tg1 A g ?

X
_=kn| :‘.'.-1
m R B

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
X
i ka
92862739910. Ll
x
2 = kp!
= P
X
—=kp''™ n>1
m

The front, left bottom atom of the FCC unit cell shown below is at the origin (0, 0, 0).

(06./

The coordinates of the face centred atoms of the left and right faces would, respectivel

0,12,12and1,1/2, 1/2
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1/2,1,1/2and 1/2, 1/2, 0
92862739914.

1/2,1/2,1and 1/2, 0, 1/2

1/2,1/2,1and 1/2, 1/2,0

= f2ETT T FCC Ueheh T T ATHA 7T, ST 9ot 97 ITee

ZHT] ga-1ag (0, 0, 0) 7% Fua & |
A

L v

(0,0,0)

ATU ST JTU FeAdhl o Toeleh hlexd TCHTUET o [H a1, HHeT: g
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0, 1/2,1/2 &< 1, 1/2, 1/2

92862739913,
112, 1, 1/2 ¥ 1/2, 1/2, 0

112, 1/2, 1 & 1/2, 0, 1/2

112, 1/2, 1 8T 1/2, 1/2, 0

A sample of polymethylmethacrylate (monomer molar mass = 100 g mc:-l_i} has the
following distribution :

Average number of

Relative abundance

monomers/chain
100 50
200 50

The polydispersity of the sample would be

0500
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92862739918. 2000

50.00

500.0

TR AT e (TR e 35T = 100 g mol ') 3 7 giaaet 1
et e (F29) 2 -

Tid ST Ueshi =l

. ATITEF TEAdT
AT 9T e
100 50
200 50
gfagel it agaiaasar grit
0.500
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5.000

92862739918.

50.00

500.0
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